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QUESTION 1

A cluster is a member of a service integration bus (SIBus) and is configured with the high availability messaging engine
policy.

How should a system administrator configure JMS messaging so that message-driven beans (MDBs) on all cluster
members can get messages?

A. Enable the JMS activation specification option: Always activate MDBs in all servers.

B. Enable the JMS destination option: Do not prefer a local queue point over other queue points.
C. Set the scope of all IMS destinations to the cluster that is a member of the SIBus.

D. Set the scope of the JIMS connection factory to the cluster that is a member of the SIBus.

Correct Answer: A

QUESTION 2

A system administrator needs to configure a new way to manage applications using the monitored directory deployment
feature. How can the administrator enable it? The feature...

A. can only be enabled in the Integrated Solutions Console (ISC).

B. can be enabled using the Integrated Solutions Console (ISC) or wsadmin.

C. is only available for a stand-alone server profile and is enabled by default.

D. is enabled by default for both a stand-alone and network deployment editions.

Correct Answer: B

QUESTION 3

A system administrator needs to connect to a database from an enterprise application where global security is enabled.
What security object should the administrator use?

A. Security certificate

B. J2C authentication alias

C. Basic authentication token

D. Local operating system (local OS) user id

Correct Answer: B
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QUESTION 4
Consider the Exhibit,

= Details

Size 1.1 GB Classes 16.5k Objects 12.5m Class Loader 601

= Biggest Objects by Retained Size

443 7 M8

1222 MB

433 3 M8

85 7 HB

Total: 1.1 GB

java.util.Vector  0x70000000e35%chbd0
Shallow Size 48 B Hetamed Size 443.7 MB

a report generated by the IBM Support Assistant (ISA) that reveals a prevailing problem within a WebSphere Application
Server environment. What should the administrator do?

A. Increase the amount of physical memory for the server.

B. Ensure that all connections taken from the data source are returned to the pool.

C. Determine why the collection class increases in size and consumes memory.

D. Modify the application so it uses stateless instead of stateful session beans to conserve the heap.

Correct Answer: C

QUESTION 5

A system administrator must deploy a new application that uses Java 2 security. There are several applications installed
in the cell that use application security but not Java 2 security. How can the administrator enable support for Java 2
security without affecting the other applications?

A. Enable Java 2 security at the cell level and grant permissions only to the new application.

B. Configure a security domain with Java 2 security enabled for the application server that will host the new application.

C. Configure a security domain for the other applications in the cell with both Java 2 security enabled and application
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security.

D. Disable global security and configure a security domain with Java 2 security enabled for the application server that
will host the new application.

Correct Answer: B
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